W i B

el wrawk TS g 2k s B sk
1 | AEESNIRET |GB/T68-2016  M10X30-A2-70 | 1500 | AR AL

2 | AHENIRET |GB/T68-2016  M10X35-A2-70 ] 500 | AEENEAEL

3 | EENIR%ET |GB/T68-2016  M10X40-A2-70 | 500 | AW EEEN

4 | ARBEHNER%5T |GB/T70. 1-2008 M4 X 10-A2-70 | 1000 | A5 R EEMN

5 | A4BNEE4T [GB/T70. 1-2008 M4 X 12-A2-70 £ | 1000 [ R EEN

6 | ARBEIHE |GB/T848-1987 D10-Al £ | 1000 [A8540 2 B E AL

7 | ANENHEE |GB/T93-1987  D5-Al ] 1000 | 4B

/It a7 0. 00




